
3. ����������

3.1 �
������������������������
�

3.1.1 �
������������������� 

3.1.1.1 !��"��!�"��#
�#�$ � ��%��� �
&��'��%���������������(�)���

�����������	�
��	��
��������������	
��� ���
 (>2000 ������), 
���
���	��� (2000-1000 ������), 
������	 (1000 - 500 ������), 
���#��
�$�% (500 -
250 ������) 
���$�����
 (250 - 125 ������), 
���$�����
��� (125-63 ������), (�$�
(<63 ������) 	�*��+�*��,-�, 	�*��+���%�,-� .$� 	�*��+	�*��+���%�,-���� /	���	�*��+
�,% 3
.�$%01�2� /	��
���������
���$�����
���
�3�4
 ��%$%����5� 
���$�����
���, 
���
#��
�$�%, (�$�, 
������	, 
������	��� .$� ���
 ���$-�
�	 (6��7��� # 
�3 1)

3.1.1.2 ������������ �%���� ��!��"��!�"���%���������������(�)���

��$�
��*��+���
8�9
:����������;$�3��:%
�3�4
	�*��+���%�,-� (0.20 ± 0.03 g10-2g)

���%�,-���� (0.17 ± 0.02 g10-2g) .$� �*��,-� (0.16 ± 0.02 g10-2g) �-����	8�9
:@�������;$�3�
�:%�4
8�	�*��+���%�,-���� (0.15 ± 0.02 g10-2g) ��%$%���*��,-� (0.13 ± 0.02 g10-2g) .$�
	�*��+���%�,-� (0.12 ± 0.02 g10-2g) ���$-�
�	 (�:�
�3 16) (6��7��� # 
�3 1) (
���*��+���

�;$�3�8�.��$�.�$%01�2����������.�����%��� (P>0.05) .����*��+���
�;$�3�������.��
���%������%9
:��$����%������-���B
�%�C*� (P<0.05) (
�����;$�3���*��+���
8�9
:�����:%
����8�9
:@� ������

��	
�%�C*�*������D*���/��EF������%.�$%01�2�.$�9
:��$���
��*��+���
�;$�3� (P>0.05) (6��7��� # 
�3 2, 3 .$�4 )
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�:�
�3 16 ��
����#�%���
8�
*� (����;$�3� ± SE) 	�*��+�*��,-�, ���%�,-� .$� ���%�,-���� 8�9
:����
.$�9
:@�

��������'��
��*��+
������	���8�9
:����������;$�3��:%
�3�4
8�	�*��+���%�,-���� (1.10

± 0.05 g10-2g) ��%$%��	�*��+���%�,-� (0.88 ± 0.06 g10-2g ) .$� �*��,-� (0.76 ± 0.05 g10-2g )
���$-�
�	 �-����	8�9
:@�������;$�3��:%�4
8�	�*��+���%�,-���� (0.82 ± 0.04 g10-2g ) ��%$%��
	�*��+���%�,-� (0.57 ± 0.05 g10-2g) .$��*��,-� (0.58 ± 0.05 g10-2g) ���$-�
�	 (6��7��� # 
�3
1) (
���*��+
������	���������;$�3�8�.��$�.�$%01�2�������.�����%����%������-���B

�%�C*�* (P<0.05) (6��7��� # 
�3 2) (
���*��+
������	���	�*��+���%�,-���� ������;$�3�
����������%�,-� .$� �*��,-� (Post Hoc Tests, Scheffe) (6��7��� # 
�3 5) .$���T3������	�
��	
����;$�3���*��+
������	���������%9
:��$/	���������.�����%����%������-���B
�%�C*�* 
(P<0.001) (6��7��� # 
�3 3) (
�����;$�3���*��+
������	���8�9
:�����:%����8�9
:@� (�:�

�3 17) ��T3�/*���+��U��������/	���������D*���/��EF������%.�$%01�2�.$�9
:��$�����*��+

������	��� (P>0.05) (6��7��� # 
�3 4)



44

0.00

0.20

0.40

0.60

0.80

1.00

1.20

1.40

�*��,-� ���%�,-� ���%�,-����


�
��

��
�	

��
� 

(g
10

-2
g)

9
:���� 9
:@�

�:�
�3 17 ��
����
������	��� (����;$�3� ± SE) 8�
*�	�*��+�*��,-� ���%�,-� .$� ���%�,-����8�
9
:����.$�9
:@�

��������

��*��+
������	8�9
:����������;$�3��:%�4
	�*��+	�*��+���%�,-���� (0.16 ±
0.01 g10-2g) ��%$%��	�*��+���%�,-� (0.14 ± 0.01 g10-2g) .$��*��,-� (0.11 ± 0.01 g10-2g)
���$-�
�	 �-����	8�9
:@�������;$�3��:%�4
8�	�*��+���%�,-���� (0.12 ± 0.00 g10-2g ) ��%$%��
	�*��+���%�,-� (0.10 ± 0.00 g10-2g ) .$� 	�*��+�*��,-� (0.08 ± 0.00 g10-2g) ���$-�
�	 (6��
7��� # 
�3 1) 
������	������;$�3�8�.��$�.�$%01�2�������.�����%����%������-���B
�%�C*�*
(P<0.001) (6��7��� # 
�3 2) (
�
������	������;$�3�8�	�*��+���%�,-���� ����������%�,-�
.$� �*��,-� (Post Hoc Tests, Scheffe) (6��7��� # 
�3 6) ��T3������	�
��	������%9
:��$/	���
������.�����%����%������-���B
�%�C*�* (P<0.001) (6��7��� # 
�3 3) (
�����;$�3�8�9
:������
����:%����8�9
:@� (�:�
�3 18) ��T3�/*���+��U��������/	���������D*���/��EF������%.�$%01�2�
.$�9
:��$ (P>0.05) (6��7��� # 
�3 4)
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�:�
�3 18 ��
����
������	 (����;$�3� ± SE) 8�
*�	�*��+�*��,-� ���%�,-� .$� ���%�,-���� 8�9
:
����.$�9
:@�

����� ������
��*��+
���#��
�$�%8�9
:����������;$�3��:%�4
8�	�*��+���%�,-���� (8.06 ±

0.35 g10-2g ) ��%$%��	�*��+���%�,-� (6.94 ± 0.44 g10-2g ) .$� �*��,-� (5.12 ± 0.29 g10-2g)
�-����	8�9
:@�������;$�3��:%�4
8�	�*��+���%�,-���� (6.44 ± 0.20 g10-2g) ��%$%��	�*��+���%
�,-� (4.31 ± 0.21 g10-2g ) .$� �*��,-� (3.17 ± 0.24 g10-2g ) ���$-�
�	 (6��7��� # 
�3 1) (
�
����;$�3�.��$�.�$%01�2�������.�����%����%������-���B
�%�C*�* (P< 0.001) (6��7��� # 
�3
2) (
�����;$�3�8�	�*��+���%�,-�����������	�*��+���%�,-� .$� �*��,-� (Post Hoc Tests,
Scheffe) (6��7��� # 
�3 7) ��T3������	�
��	����;$�3�������%9
:��$/	���������.�����%����%
������-���B (P< 0.001) (6��7��� # 
�3 3) (
�����;$�3�8�9
:�����:%����8�9
:@� (�:�
�3 19) ��T3�
/*���+��U��������/	���������D*���/��EF������%.�$%01�2�.$�9
:��$�����*��+
���#��

�$�% (P>0.05) (6��7��� # 
�3 4)
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�:�
�3 19 ��
���� 
���#��
�$�% (����;$�3� ± SE) 8�
*�	�*��+ �*��,-� ���%�,-� .$� ���%�,-����
8�9
:����.$�9
:@�

������!�"��
��*��+
���$�����
8�9
:����������;$�3��:%�4
8�	�*��+���%�,-� (69.53 ± 1.23

g10-2g ) ��%$%��	�*��+���%�,-���� (69.03 ± 1.01 g10-2g ) .$� �*��,-� (67.49 ± 1.35 g10-2g )
�-����	8�9
:@�������;$�3��:%�4
8�	�*��+���%�,-���� (65.19 ± 0.62 g10-2g ) ��%$%��	�*��+
���%�,-� (63.85 ± 0.76 g10-2g ) .$��*��,-� (63.14 ± 1.31 g10-2g) (6��7��� # 
�3 1) (
����
�;$�3�
���$�����
.��$�.�$%01�2����������.�����%���
�%�C*�* (P>0.05) (6��7��� # 
�3 2)
.����T3������	�
��	����;$�3�������%9
:��$/	���������.�����%�������%������-���B
�%�C*�* (P
<0.05) (6��7��� # 
�3 3) (
�����;$�3�8�9
:�����:%����9
:@� (�:�
�3 20) ��T3�/*���+��U��������
/	���������D*���/��EF������%.�$%01�2�.$�9
:��$�����*��+
���$�����
 (P>0.05) (6��
7��� # 
�3 4)
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�:�
�3 20 ��
����
���$�����
 (����;$�3� ± SE) 	�*��+ �*��,-� ���%�,-� .$� ���%�,-���� 8�9
:����
.$�9
:@�

������!�"��'��
��*��+
���$�����
���8�9
:����������;$�3��:%�4
8��*��,-� (22.19 ± 1.42

g10-2g ) ��%$%��	�*��+���%�,-� (18.87 ± 1.58 g10-2g ) .$� 	�*��+���%�,-���� (17.66± 1.15
g10-2g) �-����	8�8�9
:@�������;$�3��:%�4
8�	�*��+���%�,-� (25.44 ± 0.69 g10-2g ) ��%$%���*�
�,-� (23.23 ± 0.87 g10-2g) .$� 	�*��+���%�,-���� (21.56 ± 0.57 g10-2g ) (6��7��� # 
�3 1)
(
�����;$�3�
���$�����
���.��$�.�$%01�2�������.�����%����%������-���B
�%�C*�* (P
<0.05) (6��7��� # 
�3 2 ) (
�����;$�3��*��,-��������	�*��+���%�,-���� .�����.�����%��	
	�*��+���%�,-� (6��7��� # 
�3 8) .$���T3������	�
��	������%9
:��$/	���������.�����%����%
������-���B
�%�C*�* (P<0.05) (6��7��� # 
�3 3) �T� 8�9
:@��:%����8�9
:���� (�:�
�3 21) ��T3�
/*���+��U��������/	������D*���/��EF������%.�$%01�2�.$�9
:��$
�3��%�����*��+
���
$�����
����%������-���B
�%�C*�* (P<0.05) (6��7��� # 
�3 4)



48

 

15.00

17.00

19.00

21.00

23.00

25.00

27.00

�*��,-� ���%�,-� ���%�,-����


�
��

$�
��

��

��

� 
(g

10
-2
g)

9
:���� 9
:@�

�:�
�3 21 ��
����
���$�����
��� (����;$�3� ± SE) 	�*��+�*��,-� ���%�,-� .$� ���%�,-���� 8�9
:
����.$�9
:@�

+�� 
��*��+(�$�8�9
:����������;$�3��:%�4
8�	�*��+�*��,-� (2.56 ± 0.26 g10-2g)

��%$%��	�*��+���%�,-� (1.74 ± 0.24 g10-2g) .$� 	�*��+���%�,-���� (1.73 ± 0.23 g10-2g)
�-����	8�9
:@�������;$�3��:%�4
8��*��,-� (4.38 ± 0.39 g10-2g) ��%$%��	�*��+���%�,-� (4.37 ±
0.24 g10-2g) .$� 	�*��+���%�,-���� (3.79 ± 0.28 g10-2g) ���$-�
�	 (6��7��� # 
�3 1) (
�
����;$�3�(�$�.��$�.�$%01�2�������.�����%����%������-���B
�%�C*�* (P<0.05) (6��7���
# 
�3 2) (
�����;$�3��*��,-��������	�*��+���%�,-���� .�����.�����%��		�*��+���%�,-� (Post
Hoc Tests, LSD) (6��7��� # 
�3 9) .$���T3������	�
��	����;$�3�(�$�������%9
:��$/	�����
����.�����%�������%������-���B
�%�C*�* (P<0.001) (6��7��� # 
�3 3) (
�����;$�3�8�9
:@�
�:%����9
:���� (�:�
�3 22) ��T3�/*���+��U��������/	���������D*���/��EF������%.�$%01�2�.$�
9
:��$�����*��+(�$� (P>0.05) (6��7��� # 
�3 4)
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�:�
�3 22 ��
���� (�$� (����;$�3� ± SE) 8�
*�	�*��+�*��,-� ���%�,-� .$� ���%�,-���� 8�9
:����
.$�9
:@�

3.1.2 �$�',-& . �� 

����YT,�8�
*�8�9
:@�	�*��+�*��,-�������;$�3� 27.73 ± 0.76 % 	�*��+���%�,-�
������;$�3� 25.59± 0.48 % .$� 	�*��+���%�,-����������;$�3� 23.02 ± 0.35 % ���$-�
�	 8�9
:
����	�*��+�*��,-�������;$�3� 23.54± 0.35 % ��%$%��	�*��+	�*��+���%�,-�������;$�3� 21.73 ±
0.30 % .$� 	�*��+���%�,-����������;$�3� 21.52 ± 0.41 % ���$-�
�	 (6��7��� # 
�3 1) (
�
����YT,�8�
*�.��$�.�$%01�2�������.�����%����%������-���B
�%�C*�* (P<0.05) (6��7���
# 
�3 2) �T� 	�*��+�*��,-�������������	�*��+	�*��+���%�,-� .$� 	�*��+���%�,-���� (Post Hoc
Tests, Scheffe ) (6��7��� # 
�3 10) .$���T3������	�
��	����YT,�8�
*�������%9
:��$/	�����
����.�����%����%������-���B
�%�C*�* (P <0.05) (6��7��� # 
�3 3) ����;$�3�����YT,�8�
*�8�
9
:@��:%����8�9
:���� (�:�
�3 23) ��T3�/*���+��U��������/	������D*���/��EF������%.�$%01�2�
.$�9
:��$�������YT,�8�
*�����%������-���B
�%�C*�* (P<0.05) (6��7��� # 
�3 4)
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�:�
�3 23 ����YT,�8�
*� (����;$�3� ± SE) 	�*��+�*��,-� ���%�,-� .$� ���%�,-���� 8�9
:����.$�9
:
@�

3.1.3 ���'���� ��"�$
%/0

8�9
:������*��+�*�
������C48��*��,-�������;$�3� 1.82 ± 0.16 % 	�*��+���%�,-�
������;$�3�1.50 ± 0.14 % 	�*��+���%�,-����������;$�3� 1.35 ± 0.11 % ���$-�
�	 �-����	8�9
:
@�	�*��+�*��,-�������;$�3� 1.52 ± 0.06 % 	�*��+���%�,-�������;$�3� 1.27 ± 0.05 % .$� 	�*��+
���%�,-����������;$�3� 0.99 ± 0.02 % ���$-�
�	 (6��7��� # 
�3 1) ��*��+�*�
������C4������
.�����%������%.�$%01�2�����%������-���B
�%�C*�* (P<0.001) (6��7��� # 
�3 2) (
��*��,-�
�������	�*��+���%�,-� .$� ���%�,-� (Post Hoc Tests, Scheffe) (6��7��� # 
�3 11) ��T3������	
�
��	��*��+�*�
������C4������%9
:��$/	������������.�����%
�%�C*�* (P>0.05) (6��7���
# 
�3 3) (�:�
�3 24) ��T3�/*���+��U��������/	���������D*���/��EF������%.�$%01�2�.$�9
:��$���
��*��+�*�
������C4 (P>0.05) (6��7��� # 
�3 4)
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�3 24 ��*��+�*�
������C4 (����;$�3� ± SE) 	�*��+�*��,-� ���%�,-� .$� ���%�,-���� 8�9
:����
.$�8�9
:@�

3.2 �
�����-& 1� ����)�2�'���

3.2.1 � ������)�2�'���!���)2���!��!'"�
7$���01�2�#��
��������%.$�����������
�%#�%�:����
�	�/07:�.$�

�/0���� .$�#��
#�%����8�B�#�%�:����
�	�/07:������	
��� propodus, manus .$�
dactylus /	����:����
�	�/07:�����������%���
�%�;$�3� 22.71 ± 0.14 �*$$*���� �������
���
�%�;$�3� 15.14 ± 0.09 �*$$*���� ���������#�% propodus �;$�3� 35.19 ± 0.43 �*$$*����
��������� manus �;$�3� 16.23 ± 0.24 �*$$*���� .$� ��������� dactylus �;$�3� 22.52 ±
0.35 �*$$*���� 8��:����
�	�/0��������������%���
�%�;$�3� 19.72 ± 0.13 �*$$*���� .$���
����������
�%�;$�3� 14.01 ± 0.10 �*$$*���� (6��7��� # 
�3 12) (
�#��
��������%
���
�%#�%�:����
�	�/07:���d��������%����#��
��������%���
�%�:����
�	�/0��������%��
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����-���B
�%�C*�* (P<0.05) (6��7��� # 
�3 13) .$� #��
����������
�%�:����
�	�/07:�
�����������:����
�	�/0��������%������-���B
�%�C*�* (P<0.05) (6��7��� # 
�313) (�:�
�3 25)
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�% ����������
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 (�
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��
)

�/07:� �/0����

�:�
�3 25 #��
��������%���
�% (CW) ����������
�% (CL) 8��:����
�	�/07:�.$��:
����
�	�/0���� (����;$�3� ± SE) 	�*��+������$*	% ��%���
���%

(
�����������
�%.$���������%���
�%8��:����
�	�/07:�.$��/0������
�������/��EF��� (
�8��:����
�	�/07:�����������%���
�%.$�����������
�%���/��EF���
(
������ r2 = 0.908 (6��7��� # 
�3 14) .$��������C
C���Y*%������������%���
�% = -
0.368 + 1.524����������
�% (6��7��� # 
�3 15) (�:�
�3 25) ����8��:����
�	�/0������
��������%���
�%.$�����������
�%���/��EF��� (
������ r2 = 0.824 (6��7��� # 
�3 16)
.$��������C
C���Y*%���� ��������%���
�% = 2.342 + 1.240����������
�% (6��7���
# 
�3 17) (�:�
�3 26)



53

CL

201816141210

C
B

30

28

26

24

22

20

18

16

14

SEX

male

Rsq = 0.9082 

female

Rsq = 0.8245 

Total Population

Rsq = 0.8768 

�:�
�3 26 �������/��EF������%����������
�% .$���������%���
�% (�*$$*����)
#�%�:����
�	 Uca vocans hesperiae Crane, 1975 �/07:�.$��/0����
	�*��+������$*	% ��%���
���%

 3.2.2 �������$��3�� ������������)�2�'���!��!'"�

������01�2�Y��%������#�#�%�:����
�	�/0���� (
���%������������#����
���
�%/	����:����
�	�/0�������#�������
�%
4����,%
�3��d	�������% (
���d	�������%
4� i 3
�
T�� ��,%.�� �
T�������� 2546 C1%�
T�������� 2547 ��d	�������%
�,%��
 5 ���,% /	���8�Y��%
9
:������d	�������% 2 ���,% �
�.�����,%
�3 1 �
T�� ������ 2546 ��d	�������%�:����
�	�/0����
�,%
��
 41 ��� ���#�������
�% 32 ��� �*
��5� 78.05 % .$����/	�#�������
�% 9 ��� �*
��5�
21.95 % .$� ���,%
�3 2 �
T�� ������ 2547 ��d	�������%�:����
�	�/0����
�,%��
 53 ��� /	��
�#�������
�% 41 ��� �*
��5� 77.36 %.$����/	�#�������
�% 12 ��� �*
��5� 22.64 %
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8�Y��%9
:@���d	�������% 3 ���,% ���,%
�3 1 �
T�� ��2��� 2546 ��d	�������%�:
����
�	�/0����
�,%��
 33 ��� /	�#�������
�% 10 ��� �*
��5� 30.30 % .$����/	�#����
���
�% 23 ��� �*
��5� 69.70 %���,%
�3 2 �
T�����j��� 2546 ��d	�������%�:����
�	�/0����
�,%
��
 22 /	�#�������
�% 21 ��� �*
��5� 95.45 % .$����/	�#�������
�% 1 ��� �*
��5� 4.55
% .$����,%
�3 3 �
T�� �4$��� ��d	�������%�:����
�	�/0����
�,%��
 39 ��� /	�:����
�	�/0
�������#�������
�% 35 ��� �*
��5� 89.74 % .$� ���/	�#�������
�% 4 ��� �*
��5� 10.26 %
(6��7��� # 
�3 18) ��T3������	�
��	�-�����:����
�	�/0�����;$�3�
�3���#�������
�%������%9
:
��$/	����-�����:����
�	�/0����
�3���#�������
�%�;$�3����������.�����%������%9
:��$ 
(P>0.05) (6��7��� # 
�3 19)

3.2.3 �$�'� �� � ����)�2�'���. �-& �"4�����

3.2.3.1 �$�'� �� � 56� $ %
$�)�2�'���

7$���01�2��������.���#�%�:����
�	(
���	�-������� /	����������
.���#�%�:����
�	8�9
:�����:%�4
	�*��+�*��,-� ���-�����:����
�	�;$�3� 5.10 ± 0.15 ���/����%
���� ��%$%��	�*��+	�*��+���%�,-� ���-�����:����
�	�;$�3� 2.79 ± 0.20 ���/����%���� ���
/	�:����
�	��0��	�*��+	�*��+���%�,-���� �-����	�������.����:����
�	8�9
:@������
�;$�3��:%�4
�*��,-� ���-�����:����
�	 5.56 ± 0.19 ���/����%���� ��%$%��	�*��+	�*��+���%�,-�
���-�����:����
�	�;$�3� 2.63 ± 0.16 ���/����%���� (�:�
�3 27) ���/	�:����
�		�*��+	�*��+
���%�,-���� (6��7��� � 
�3 20) ��T3������	�
��	�������.���#�%�:����
�	.��$�.�$%01�2�
/	����������.����-�������������.�����%����%������-���B
�%�C*�* (P < 0.001) (
�����
���.����;$�3�	�*��+�*��,-��:%����	�*��+���%�,-� (6��7��� # 
�3 21) .�����������.�����%
������%9
:��$ (P>0.05) (6��7��� # 
�3 22) .$���T3�/*���+��U��������/	���������D*���/��EF
������%.�$%01�2�.$�9
:��$����������.���#�%�:����
�	 (P>0.05) (6��7��� # 
�3 23)
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�:�
�3 27 �������.����-�����:����
�	 (���/����%����) 	�*��+�*��,-� .$� ���%�,-� 8�9
:����
.$�9
:@�

3.2.3.2 �$�'� �� � �)�)�2�'���

7$������01�2��������.����:#�%�:����
�		�*��+�*��,-� 	�*��+���%�,-�
.$�	�*��+���%�,-����8�Y��%9
:����.$�9
:@� /	����������.����:�:����
�	8�9
:����
	�*��+�*��,-� ���-�����:�;$�3� 7.33 ± 1.07 �:/����%���� 	�*��+	�*��+���%�,-� ���-�����:�;$�3�
1.50 ± 0.22 �:/����%���� 	�*��+	�*��+���%�,-�������/	�:�:����
�	 (6��7��� # 
�3 20)
�������.����:�:����
�	8�Y��%9
:@�	�*��+�*��,-� ���-�����:�:����
�	�;$�3� 6.82 ± 1.04 �:/��
��%���� 	�*��+	�*��+���%�,-� ���-�����:�:����
�	�;$�3� 2.50 ± 0.56 �:/����%���� .$����/	�:
�:����
�		�*��+	�*��+���%�,-���� (�:�
�3 28) ��T3������	�
��	�������.����:�:����
�	
������%.�$%01�2�/	���������.�����%�������%������-���B
�%�C*�* (P<0.05) (
�	�*��+�*�
�,-����-�����:�������	�*��+	�*��+���%�,-� (6��7��� # 
�3 21) .�����������.�����%������%9
:
��$ (P>0.05) (6��7��� # 
�3 22) ��T3�/*���+��U��������/	���������D*���/��EF������%.�$%
01�2�.$�9
:��$����������.����:�:����
�	 (P>0.05) (6��7��� # 
�3 23)
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�:�
�3 28 �������.����-�����:�:����
�	 (�:/����%����) 	�*��+�*��,-� .$� 	�*��+���%�,-� 8�
9
:����.$�9
:@�

3.2.4 #
�#�$ !�� (sex ratio)

7$���01�2���
�����/0 
-����01�2�
�,%��
 5 ���,% (
�8�9
:���������01�2�
3 ���,%.$�8�9
:@� 2 ���,% �����	�
��	��
�����/0	�*��+�*��,-� 	�*��+���%�,-� .$�	�*��+���%�,-�
��� ������01�2�/	����:����
�	����
�����/0�;$�3� (�-�����/07:� (���) /�-�����/07:�(���)+
�-�����/0���� (���)	�*��+�*��,-� 8�9
:��������
�����/07:��;$�3� 0.48 ± 0.02 .$�8�9
:@�����

�����/07:��;$�3� 0.49 ± 0.02 	�*��+���%�,-� 8�9
:��������
�����/07:��;$�3� 0.55 ± 0.09 .$�8�
9
:@�����
�����/07:��;$�3� 0.54 ± 0.04 ����	�*��+	�*��+���%�,-�������/	�:����
�	 (����%
�3
2) ��T3������	�
��	��
�����:����
�	�/07:�����:����
�	�/0����8�.��$�.�$%01�2� /	�����

�����:����
�	�/07:�����:����
�	�/0���� 	�*��+�*��,-�.�����%���	�*��+	�*��+���%�,-� �T�
	�*��+�*��,-�/	�:����
�	�/0������������:����
�	�/07:� .$� 	�*��+	�*��+���%�,-�/	�:
����
�	�/07:���������:����
�	�/0��������%������-���B
�%�C*�* (P<0.001) (6��7��� # 
�3
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24) .$���T3������	�
��	��
�����:����
�	�/07:�����:����
�	�/0����������%9
:��$/	��������
����.�����%��� (P>0.05) (6��7��� # 
�3 25)

����%
�3 2 �-�����:����
�	�/07:� (���/����%����) .$��:����
�	�/0���� (���/����%����)
.$���
�����/0 (�/07:�/�/07:�+�/0����) 8�9
:����.$�9
:@�	�*��+�*��,-� .$�
	�*��+���%�,-� (����;$�3� ± SE) 	�*��+������$*	% ��%���
���%

9
:���� 9
:@�

.�$%01�2� ���,%
�3 �/07:� �/0���� ��
�����/0 �/07:� �/0���� ��
�����/0

1 12.44 ± 1.00 11.22 ± 1.12 0.54 ± 0.02 18.91 ± 0.88 18.49 ± 0.98 0.50 ± 0.02

2 8.30 ± 0.76 11.46 ± 0.86 0.42 ± 0.02 15.56 ± 1.04 14.08 ± 1.64 0.52 ± 0.02

�*��,-� 3  -  - - 12.28 ± 0.75 16.92 ± 0.85 0.44 ± 0.02

���!F�"4� 10.37 ± 0.88 11.34 ± 0.99 0.48 ± 0.02 15.58 ± 0.89 16.50 ± 1.16 0.49 ± 0.02

1 8.00 ± 1.29 5.4 ± 1.46 0.59 ± 0.03 8.83 ± 2.99 15.33 ± 3.37 0.45 ± 0.06

2 3.00 ± 1.20 3.00 ± 1.40 0.50 ± 0.15 8.25 ± 2.11 4.17 ± 2.38 0.67 ± 0.04

���%�,-� 3 - - - 4.91 ± 1.26 5.94 ± 1.41 0.49 ± 0.03

���!F�"4� 5.50 ± 1.25 4.20 ± 1.43 0.55 ± 0.09 7.33 ± 2.12 8.48 ± 2.39 0.54 ± 0.04

3.2.5 �
���� Handedness
7$���01�2�$��2+����� handedness #�%�:����
�	�/07:���d���� /	����:

����
�	�/07:�����8�B�������8�B���:�#��%#�����������:�#��%l��� (
�/	�:����
�	�/07:�������
8�B���:�
���#�� 497 ��� �*
��5� 98.42 % .$�����8�B���:�
���l��� 8 ��� �*
��5� 1.58 % (��
��%
�3 3) ��T3������	�
��	��
��������8�B���:�
���#��.$�����8�B���:�
���l���������.�����%
����%������-���B (χ2

1 =473.507,P<0.001 ) (6��7��� # 
�3 26)
����%
�3 3 �-�����������%�:����
�	�/07:� Uca vocans hesperiae 
�3������#��8�B�.$�����

l���8�B� 	�*��+������$*	% ��%���
���% ������%�
T�������� 2546E������ 2546
�:�.		����

(Handedness)
�/07:�����#��8�B� �/07:�����l���8�B� �C*�*

�/07:�8����Y��� 497 8 χ2
1 =473.507,P<0.001
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3.2.6 �
�����2�'��� Brachychelous ��� Leptochychelous

7$���01�2�$��2+�����#�%�:����
�	�/07:� ��������d	�������%�:����
�	
�/07:�
�,%��
 505 ��� /	���������.		 brachychelous 409 ��� �*
��5� 80.99 % .$�������
.		 leptochychelous 96 ��� �*
��5� 19.01 % (����%
�3 4) (
���
�����:����
�	�/07:�������
.		 Brachychelous .$� Leptochychelous .�����%�������%������-���B
�%�C*� (P<0.001)
(6��7��� # 
�3 27)
����%
�3 4 �-�����������%�:����
�	�/07:� Uca vocans hesperiae ������.		 Brachychelous

.$� ����.		 Leptochychelous 	�*��+������$*	% ��%���
���% ������%�
T��
������ 2546-E������ 2546

�)�����2�' Brachychelous Leptochychelous #/�%�

�/07:�8����Y��� (���) 409 (80.99 %) 96 (19.01%) χ2
1 =194.00, P<0.001

3.3 �V55
��"4'"���W���%���(%����'����X���
 ����!�%

3.3.1 �
��������������"4'"���W���%���(%����'����X���
 ����!�%

3.3.1.1 ,�$�!$���
�����#���(%����'

��
����#�%���.�
%/9�*�������% i #�%�:����
�	8�Y��%�,-�$% �$�%���/T,�
��
(7$����T��,-� 	�*��+/T,�
�301�2�/	���Y��%��$�#�%/T,���
(7$����T��,-�8�Y��%�,-����������
��$������+ 3 - 4 Y�3�(�% #+�
�38�Y��%�,-���*
 ��Y��%��$������+ 5 - 6 Y�3�(�% 8�Y��%�,-���*

��
�	�,-���$
$%�3-�����Y��%�,-����.$�������$�
�3����������Y��%�,-���� 8����01�2����,%��,
-�
���01�2�8�Y��%��$��,-���*
 (6��7��� � 
�3 5-9) /	����:����
�	 Uca vocans hesperiae
.�
%��
�������.�
%/9�*����
�3Y��%��$����% i �
�.��

,�$�!$��,
4$+'��"4 1
/	�����
�������.�
%/9�*��������*� /	���
�3�4
 93.02 ± 4.32 % .$���*


/9�*�����T3� i �/��%�$d����� �
�.�� ���(	�����, ������,��/�����, �������:�, ���(	�����.$��*�
�����, ��0��8��:, #�
*��������: ����� 17.30 ± 2.09 %, 1.49 ± 1.36 %, 1.37 ± 1.2 %, 0.02
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± 1.21 %, 0.74 ± 1.37 %, 0.73 ± 1.83 % ���$-�
�	 .$����/	����:B�����:8�Y�3�(�%
�3 1 (�:�
�3
29)(6��7��� # 
�3 28)

,�$�!$��,
4$+'��"4 2
/	�����
�������.�
%/9�*��������*�/	���
�3�4
 93.00 ± 4.53 % ��
����

���.�
%/9�*������0��8��:, ������,��/����� #�
*��������: (	����� (	�����.$��*������
.$��������:� ����� 1.85 ± 1.44 %, 1.61 ± 1.42 %, 1.27 ± 1.92 %, 1.16 ± 2.17 %, 0.68 ± 1.27
%, 0.34 ± 1.17 % ���$-�
�	 (�:�
�3 29) (6��7��� # 
�3 28)

,�$�!$��,
4$+'��"4 3
/	�����
�������.�
%/9�*��������*����
�3�4
 55.61 ± 4.83 % /	/9�*

����(	����� 12.27 ± 2.34 % ������,��/����� 7.41 ± 1.52 % �������:� 6.70 ± 1.25 8�$�����%
��	�����0����:�8��: 6.05 ± 1.53 % (	�����.$��*������ 5.75 ± 1.35 % #�
*��������: 4.55
± 2.05 % #:� 0.87 ± 0.37 % .$� �:B�����: 0.46 ± 0.19 % ���$-�
�	 (�:�
�3 29) (6��7��� # 
�3
28)

,�$�!$��,
4$+'��"4 4
/	�����
����/9�*��������*�$
$%.����%�%/	���
�3�4
 34.56 ± 7.00 % /9�*

����
�%��%���/*3����#1,� �Y�� ���(	������/*3����#1,����Y�3�(�%
�3 3 ����� 18.27 ± 3.38 % ��
���8�$�����%��	 ���#�
*��������: /	 17.78 ± 2.97 % .$�/	�����
����/9�*���������0��
8��:�/*3���5� 12.29 ± 2.21 % /9�*����(	�����.$��*������ 6.05 ± 1.95 % ������,��/�����
$
$%���Y�3�(�%
�3 3 /	 5.72 ± 2.20 % /9�*�����������:�$
$% ����� 3.17 ± 1.81 % ���#:��/*3�
���Y�3�(�%
�3 3 1.29 ± 0.54 % /	����:B�����:�/��% 0.27 ± 0.27 % (�:�
�3 29) (6��7��� # 
�3
28)

,�$�!$��,
4$+'��"4 5
/	��
����/9�*�������(	�����/	���
�3�4
 31.19 ± 4.48 % .$������8�$�

����%��	��
�������.�
%/9�*��������*�/	 30.65 ± 9.26 % /9�*����������,��/������/*3�
�������Y�3�(�%
�3 4 ��5� 12.50 ± 2.90 % ���#�
*��������: 8.52 ± 3.92 % �����8�$�����%��	
�����0��8��:��*
 7.24 ± 2.93 % /9�*�������3��#��%��	����o�%�����+��#��/*3����#1,����Y�3�
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(�%
�3 4 /	����������:��/*3���5� 6.27 ± 2.39 % .$� ���#:� 2.65 ± 0.72 % ����:B�����/*3����#1,�
/	 0.56 ± 0.36 % /9�*�������(	�����.$�����*������$
$%/	�/��% 0.44 ± 0.58 % (�:�
�3
29) (6��7��� # 
�3 28)
������	
����
����� 6

/	��
����/9�*�������3����	.�$�%��0���/*3����#1,�/	����:����
�	#�
*����
����:���
�3�4
 37.26 ± 5.55 % ��%$%����*
/9�*�������(	����� 20.31 ± 6.33 % �����8�$�
����%��	 �����0����:�8��: 20.10 ± 4.14 % /9�*��������*�$
$%���Y�3�(�%
�3 5 ��*
�/��% 10.96
± 13.09 % /9�*����������,��/�����$
$%���Y�3�(�%
�3 5 ����� 6.29 ± 4.11 % /9�*�������3��
#��%��	����o�%�����+��#�$
$%���Y�3�(�%
�3 5 /	�����
�����������:���*
�/��% 1.11 ± 3.38 %
/	������#:��/*3��������Y�3�(�%
�3 5 ��
�������.�
%/9�*���� 3.96 ± 1.01 % (�:�
�3 29) (6��
7��� # 
�3 28)

�:�
�3 29 ��
�������.�
%/9�*�������% i �
�.�� �*������ (	����� (	�����.$��*������ ���,��
����:� #:� �#���: #�
*��������: .$� �:B�����: 8�Y��%�,-�$%/T,�
�3�:�:����D��,%.��Y�3�(�%
�3
1- 6  
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3.3.2 �V55
����,"$����"4'"���W���%���(%����'����X���
 ����!�%

3.3.2.1 � ���)�2�'���!���)2�"4�#���(%����'����X���
 ����!�%

7$���01�2�#��
�:����
�	�/07:�8����Y����������4���������%�:����
�	 
/	��� �:����
�	�/07:�8����Y�����#��
��������%���
�%�;$�3� 22.63 ± 0.15 �*$$*���� .$�
����������
�%�;$�3� 15.13 ± 0.30 �*$$*���� .$����������	���% i #�%�����
�.��
propodus ��#��
�;$�3� 35.19 ± 0.43 �*$$*����, manus ��#��
�;$�3� 16.23 ± 0.24 �*$$*����
.$� dactylus ��#��
�;$�3� 22.52 ± 0.35 �*$$*���� �:����
�	�/07:�
�3.�
%/9�*��������o�%
�����+��#���#��
��������%���
�%�;$�3� 24.75 ± 0.30 �*$$*���� .$� ����������
�%
�;$�3� 16.35 ± 0.18 �*$$*���� ���������	���% i #�%�����
�.�� propodus ��#��
�;$�3� 40.40
± 0.86 �*$$*����, manus ��#��
�;$�3� 17.49 ± 0.65 �*$$*���� .$� dactylus ��#��
�;$�3�
27.19 ± 0.76 �*$$*���� (�:�
�3 30)

#��
��������%���
�%#�%�:����
�	�/07:�8����Y���.$��:����
�	�/07:�
�3
.�
%/9�*��������o�%�����+��#�������.�����%����%������-���B
�%�C*�* (t-test ,t99 = -
6.286, P<0.05) (6��7��� # 
�3 29) ����������
�%#�%�:����
�	�/07:�8����Y���.$��:
����
�	�/07:�
�3.�
%/9�*��������o�%�����+��#�������.�����%����%������-���B
�%�C*�*(
t-test, t105 =-6.026, P<0.05) (6��7��� # 
�3 29) .$� ���������	���% i #�%����8�B�
propodus #�%�:����
�	�/07:�
�3.�
%/9�*��������o�%�����+��#���#��
�������.�����%
����:����
�	�/07:��;$�3�8����Y�������%������-���B
�%�C*�* ( t-test, t99 = -5.405, P<0.05)
(6��7��� # 
�3 29) .$�#��
#�% dactylus 8��:����
�	�/07:�
�3.�
%/9�*��������o�%���
��+��#����������.�����%����:����
�	�/07:��;$�3�8����Y�������%������-���B
�%�C*�* (
t-test, t93 = -5.582, P<0.05) (6��7��� # 
�3 29) .$�/	���#��
#�%���������	#�%��������
manus #�%�:����
�	�/07:�
�3.�
%/9�*��������o�%�����+��#���	#��
�;$�3�#�%�:����
�	
�/07:�8����Y������������.�����%
�%�C*�* (t-test, t82 = -1.808) (6��7��� # 
�3 29)
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�:�
�3 30 #��
��������%���
�% (CW) ����������
�% (CL) Propodus, Manus, Dactylus
#�%�:����
�	�/07:��;$�3�.$��:����
�	�/07:�
�3.�
%/9�*�����o�%�����+��#� 	�*��+
������$*	% ��%���
���%

3.3.2.2 � ������!�%�������#���(%����'!'-4��)�2�'���!���)2
���
����56��)

��T3��:����
�	�/07:��*������	�*��+�*��,-���5���$������+ 2-3 Y�3�(�% �:
����
�	�d����$T3��
�3#1,���	�*��+�: �:����
�	����*3�.�
%/9�*����
�%��%�� �Y�� ������,��
�������:� #:� ���(	����� ��/9�*����
�3���3��#��%��	/9�*��������o�%�����+��#� �
�.�� ���(	�
���� ���#:� .$��������:� ��T3���7:�	4��4��#��8�$���+��#� (
�#��
��+��#��;$�3�
�3�:����
�	�/0
7:�.�
%/9�*��������o�%�����+��#�8�9
:����	�*��+�*��,-� ��#��
��+��#� 0.15 ± 0.02 ��
��%���� .$� 	�*��+���%�,-� ��#��
��+��#� 0.11 ± 0.04 ����%���� .$�8�9
:@�	�*��+�*�
�,-� ��#��
��+��#� 0.11 ± 0.01 ����%���� .$�	�*��+���%�,-� ��#��
��+��#� 0.12 ± 0.02
����%���� ��T3������	#��
��+��#�
�,%��%	�*��+/	������������.�����%���������%.�$%

�:����
�	�/07:�
�3.�
%/9�*�������
�o�%�����+��#� �:����
�	�/07:��;$�3�
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01�2�.$�9
:��$ (P>0.05) .$�������D*���/��EF����������%.�$%01�2�.$�9
:��$ (P>0.05)
(6��7��� # 
�3 21 22 .$� 23) (
��:����
�	�/07:�.�
%/9�*�������%i ��T3���0������-��:�
�
.��
�(%����'����� �����

��
�������.�
%/9�*��������*������
�3����
�%���% i ���%����: (
�/	
���
�3�4
	�*��+ 11-20 �l��*���� (5.94 ± 1.41 %) ��%$%������ 0 -10 �l��*���� (4.33 ±
1.54 %) ���� 31-40 �l��*���� (2.65 ± 0.97 %) ���� 21-30 �l��*���� (1.70 ± 0.66 %)
���� 41-50 �l��*���� (0.55 ± 0.31 %) 51-60 �l��*����(0.85 ± 0.66) ���$-�
�	 
�3���� 61-
100 �l��*����/	���� .$����/	
�3�����������100 �l��*���� 	�*��+���%�,-� /	���
�3�4

�3
���� 11 q 20 �l��*���� (5.04 ± 2.05 %) ���� 21-30 �l��*���� (4.47 ± 1.55 %) 0-10
�l��*���� (3.49 ± 1.47 %) 41-50 �l��*���� (2.33 ± 1.03 %) .$� 31-40 �l��*���� (1.22 ±
0.74 %) ���$-�
�	 (6��7���
�3 30) (
���
�������.�
%/9�*��������*�.��$�����
�%��

����.�����%����%������-���B
�%�C*�* (χ2
10 = 62.096, P<0.001) (6��7��� # 
�3 31) (�:�
�3

31)
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�:�
�3 31 ��
�������.�
%/9�*��������*������
�3����
�% 0 - 10, 11 - 20, 21 - 30, 31 - 40,
41 - 50, 51 - 60, 61 - 70, 71 - 80, 81 - 90, 91 - 100, >100 �l��*���� 	�*��+�*��,-�
.$� 	�*��+���%�,-�
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�(%����'���+���2�'
��
�������.�
%/9�*�������(	�����(
�������
�%���%����:	�*��+���% 

i�T�	�*��+�*��,-�.�
%/9�*�������(	��������
�3�4
	�*��+ 0-10 �l��*���� (10.21 ± 1.89
%) ��%$%��	�*��+ 11-20 �l��*���� (5.32± 1.73 %) .$� 21-30 �l��*���� (1.50 ± 0.52 %)
.$� ���� 31-40 �l��*���� (0.78 ± 0.46 %) ���/	
�3����������� 40 �l��*���� ����	�*��+
���%�,-� /	����;$�3����
�3�4
 ���� 0-10 �l��*���� (8.36 ± 2.23) 11-20 �l��*���� (4.15 ±
1.18 %) 21-30 �l��*���� (2.90 ± 1.56 %) ���� 51-60 �l��*���� (2.07 ± 1.07%) 61-70
�l��*���� (1.54 ± 0.89 %) 71 q 80 �l��*���� (1.49 ± 0.61 %) 81-90 �l��*���� (1.20 ± 0.70
%) 31-40 �l��*���� (1.32 ± 0.55 %)41-50 �l��*���� (1.16 ± 0.68%) 91-100 �l��*����
(0.87 ± 0.48 %) .$�
�3����������� 100 �l��*���� (0.29 ± 0.29 %) ���$-�
�	 (6��7��� #

�3 30) (
���
�������.�
%/9�*�������(	�����������.�����%������%����
�%����%�����

�-���B
�%�C*�* (χ2
10 = 143.262, P<0.001) (6��7��� # 
�3 31) (�:�
�3 32)
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�3 32 ��
�������.�
%/9�*�������(	�����
�3����
�% 0-10, 11-20, 21-30, 31-40, 41-50,
51-60, 61-70, 71-80, 81-90, 91-100, >100 �l��*���� 	�*��+�*��,-� .$� 	�*��+���%
�,-�
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�(%����'����� �����������+���2�'
��
����/9�*��������*������.$�(	�����/	���
�3�4
	�*��+�������%����: 

0 - 10 �l��*���� (3.24 ± 1.43 %) ��%$%��	�*��+ 11 - 20 �l��*���� (2.87 ± 1.04 %) 21 -
30 �l��*���� (1.55 ± 0.74 %) .$�	�*��+�T3� i ��*
8���
����8�$�����%���.$���*
�/��%�$d�����
���/	/9�*�������(	�����.$��*������ 
�3����������� 60 �l��*���� ����	�*��+���%�,-� /	
����;$�3����
�3�4

�3���� 0-10 �l��*���� (1.74 ± 0.71 %) ��%$%��
�3���� 11-20 �l��*����
(2.16 ± 1.13) 21-30 �l��*���� (1.93 ± 1.10 %) 31-40 �l��*���� (1.07 ± 0.71) 41-50
�l��*���� (0.74 ± 0.42 %) .$� 51-60 �l��*���� (0.33 ± 0.33 %) ���$-�
�	 ���.�
%/9�*
����
�3����������� 61 �l��*���� (6��7��� # 
�3 30) (
���
�������.�
%/9�*�������(	�

����.$��*������������.�����%������%����
�%����%������-���B
�%�C*�* (χ2
10 = 78.99, P

<0.001) (6��7��� # 
�3 31) (�:�
�3 33)
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�3 33 ��
�������.�
%/9�*����(	�����.$�����*������
�3����
�% 0 - 10, 11 - 20, 21 -
30, 31 - 40, 41 - 50, 51 - 60, 61 - 70, 71 - 80, 81 - 90, 91 - 100, >100 �l��*����
	�*��+�*��,-�.$�	�*��+���%�,-�
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�(%����'���!�"&�$����#"
��
����/9�*����������,��/�����	�*��+�*��,-� /	���
�3�4
	�*��+�������%��

��: 11 - 20 �l��*���� (3.66 ± 1.04 %) ��%$%��	�*��+ 0 - 10 �l��*���� (3.23 ± 0.95 %) 8�$�
����%��		�*��+ 21 - 30 �l��*���� (3.14 ± 1.05 %) 31 - 40 �l��*���� (2.73 ± 0.93 %) .$�
	�*��+�T3� i ��*
��
����/9�*����8�$�����%��� �T� 41 - 50 �l��*���� (1.14 ± 0.43 %) 51 - 60
�l��*���� (1.14 ± 0.48 %) 61 - 70 �l��*���� (0.60 ± 0.42 %) .$�	�*��+ 91-100 �l��*����
(0.42 ± 0.29 %) ���/	/9�*����������,��/�����	�*��+ 71 - 80 �l��*���� .$�	�*��+�������
100 �l��*���� 	�*��+���%�,-� /	���
�3�4

�3���� 11 - 20 �l��*���� (2.19 ± 1.25 %) ���� 0 -
10 �l��*���� (1.33 ± 0.67 %) ���� 81-90 �l��*���� (1.16 ± 1.16) 
�3���� 21 q 30
�l��*���� (0.77 ± 0.43 %) .$� 41 - 50 �l��*���� (0.75 ± 0.52 %) ���$-�
�	 ���/	
�3����
������� 91 �l��*���� (6��7��� # 
�3 30) (
���
�������.�
%/9�*����������,��/�������

����.�����%������%����
�%����%������-���B
�%�C*�* (χ2
10= 54.17, P<0.001) (6��7��� #


�331)(�:�
�3 34)
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�������.�
%/9�*����������,��/�����
�3����
�% 0-10, 11-20, 21-30, 31-40, 41-
50, 51-60, 61-70, 71-80, 81-90, 91-100, >100 �l��*����	�*��+�*��,-� .$� 	�*��+
���%�,-�
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�(%����'���%��#)2
��
�������.�
%/9�*�����������:�	�*��+�*��,-�/	���
�3�4
	�*��+
�3�������%

����: 0 - 10 �l��*���� (3.51 ± 1.08 %) ��%$%��	�*��+ 11 - 20 �l��*���� (2.64 ± 1.18 %)
21 - 30 �l��*���� (1.08 ± 0.52%) 31 - 40 �l��*���� (0.63 ± 0.36 %) ���$-�
�	 ���/	/9�*
�����������:���,%.������
�%���%����:������� 40 �l��*���� ����	�*��+���%�,-� /	����;$�3�
���
�3�4

�3���� 0 - 10 �l��*���� (2.62 ± 1.88 %) 11 - 20 �l��*���� (1.64 ± 0.81 %) 21 - 30
�l��*���� (1.12 ± 0.78 %) �����,�/9�*�����������:�/	�:%#1,����
�3���� 71 - 80 �l��*����
�������: (1.74 ± 1.74 %) .$�
�3���� 81 - 90 �l��*���� (0.87 ± 0.64 %) 51-60 �l��*����
(0.31 ± 0.31 %) 41-50 �l��*���� (0.29 ± 0.29 %) ���$-�
�	 (6��7��� # 
�3 30) (
���
����

���.�
%/9�*�����������:�������.�����%������%����
�%����%������-���B
�%�C*�* (χ2
10 =

69.57, P<0.001) (6��7��� # 
�3 31) (�:�
�3 35)
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�:�
�3 35 ��
�������.�
%/9�*�����������:�
�3����
�% 0-10, 11-20, 21-30, 31-40, 41-50, 51-
60, 61-70, 71-80, 81-90, 91-100, >100 �l��*���� 	�*��+�*��,-� .$� 	�*��+���%�,-�
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�(%����'����)�
��
����/9�*�������#:�.�
%���
�3�4
	�*��+�*��,-�
�3�������%����: 0 -10

�l��*���� (1.21 ± 0.52 %) 11 - 20 �l��*���� (0.17 ± 0.17 %) 31 - 40 �l��*���� (0.22 ±
0.22 %) ���/	/9�*�������#:�
�3	�*��+
�3������� 41 �l��*���� �-����		�*��+���%�,-� .�
%/9�*
�������#:����
�3�4

�3�������%����: 0 - 10 �l��*���� (0.56 ± 0.40 %) ���/	/9�*�������#:�
�3
����������� 11 �l��*���� (6��7��� # 
�3 30) (
���
�������.�
%/9�*�������#:�������

.�����%������%����
�%����%������-���B
�%�C*�* (χ2
10= 53.82, P<0.001) (6��7��� # 
�3

31) (�:�
�3 36)
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�:�
�3 36 ��
�������.�
%/9�*�������#:�
�3����
�% 0-10, 11-20, 21-30, 31-40, 41-50, 51-60,
61-70, 71-80, 81-90, 91-100, >100 �l��*���� 	�*��+�*��,-� .$� 	�*��+���%�,-�
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�(%����'������
�. �)
��
�������.�
%/9�*���������0��8��:/	.�
% 14.41 ± 2.85 % 	�*��+���%

�,-� .�
%��
����/9�*���������0��8��: 13.49 ± 2.74 % (6��7��� # 
�3 30) (χ2
10 = 432.228,

P<0.001) (6��7��� # 
�3 31) (�:�
�3 37)
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�:�
�3 37 ��
�������.�
%/9�*���������0��8��:
�3����
�% 0 - 10, 11 - 20, 21 - 30, 31 - 40,
41 - 50, 51 - 60, 61 - 70, 71 - 80, 81 - 90, 91 - 100, >100 �l��*���� 	�*��+�*��,-�
.$� 	�*��+���%�,-�

�(%����'���� �� ��� ���)
�:����
�	�-�
*����%����:/	���
�3�4

�3����
�% 11 - 20 �l��*���� (10.79±

2.76 %) .$�
�3����
�% 0 - 10 �l��*���� (4.46 ± 2.24 %) ���� 21 - 30 �l��*���� (1.07 ±
0.64 %) .$�/	����
�3�4
���� 31 - 40 �l��*���� (0.16 ± 0.16%) ���/	���#�
*�����%
�3
����
�%�T3� i 	�*��+���%�,-� �:����
�	#�
*�������%�:���
�3�4

�3���� 0 - 10 �l��*���� (5.61
± 2.62 %) ���� 11 - 20 �l��*���� (4.77 ± 1.86 %) .$����� 21 - 30 �l��*���� (1.83 ± 1.27
%) ���� 31-40 �l��*���� (0.60 ± 0.33 %) ���$-�
�	 ���/	
�3����������� 40 �l��*����
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(6��7��� # 
�3 30) (
���
�������.�
%/9�*�������#�
*��������:������.�����%������%

����
�%����%������-���B
�%�C*�* (χ2
10 = 149.77, P<0.001) (6��7��� # 
�3 31) (�:�
�3 38)
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��
: (%

)

�*��,-� ���%�,-�

�:�
�3 38 ��
�������.�
%/9�*�������#�
*��������:
�3����
�% 0 - 10, 11 - 20, 21 - 30, 31
- 40, 41 - 50, 51 - 60, 61 - 70, 71 - 80, 81 - 90, 91 - 100, >100 �l��*���� 	�*��+�*�
�,-� .$� 	�*��+���%�,-�
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�(%����'���#)^!#"��)
��
��������:B�����:	�*��+�*��,-� /	���������*

�3���� 0 - 10 �l��*����

(0.85 ± 0.50 %) .$����/		�*��+���%�,-� (6��7��� # 
�3 30) (
���
�������.�
%/9�*

��������:B�����:������.�����%������%����
�%����%������-���B
�%�C*�* (χ2
10 = 39.91, P

<0.05) (6��7��� # 
�3 31) �:�
�3 39)
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: (%

)

�*��,-� ���%�,-�

�:�
�3 39 ��
�������.�
%/9�*��������:B�����:
�3����
�% 0 - 10, 11 - 20, 21 - 30, 31 - 40,
41 - 50, 51 - 60, 61 - 70, 71 - 80, 81 - 90, 91 - 100, >100 �l��*���� 	�*��+�*��,-�
.$� 	�*��+���%�,-�

3.3.2.3 �
%������X���
 ����!�%!'-4��)�2�'���!���)2���
����56��)

��T3�/*���+���������.�
%/9�*��������o�%�����+��#�(
�/*���+����
���.�
%/9�*��������o�%�����+��#�	�*��+��	�:8�Y��%��$� 15 ��
�/	������.�
%/9�*
��������o�%�����+��#���	�:8�9
:����	�*��+�*��,-� ����������.�
% 0.12 ± 0.25 ���,%���
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��
� 	�*��+	�*��+���%�,-� ����������.�
% 0.37 ± 0.17 ���,%�����
� .$�8�9
:@� 	�*��+�*��,-�
����������.�
% 0.16 ± 0.03 ���,%/��
� .$�	�*��+���%�,-� ����������.�
% 0.21 ± 0.08 ���,%/
��
� ��T3������	�
��	7$�����T3�%���.�$%01�2�/	������������.�����%#�%���������o�%���
��+��#� (P>0.05)(6��7��� # 
�3 21) .�������������.�
%/9�*��������o�%�����+��#���
����.�����%��������T3�%���9
:��$(
�8�Y��%9
:@��:%����9
:���� (P<0.05) (6��7��� # 
�3
22) .$�������D*���/��EF����������%.�$%01�2�.$�9
:��$�����������.�
%/9�*��������o�%
�����+��#� (6��7��� # 
�3 23)


